This is the first turn of the game (2400.0). It is one good planet start. Starting resources = 100,000. What I am going to test is the mineral production number 35762, how is it calculated?
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Empire options window shows that resource production is 35762 = 40362 (mined from homeworld)-4600 (homeworld facility maintenance). 
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OK, lets talk about 40362. It should be equal total amount of minerals produced on the only planet- homeworld. There are 7 mining facilities on it:
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Each of them produces 3000 minerals. So base mineral production is 7*3000=21000. Now what about % modifiers?
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Here they are:

Planet value : 124%

Population happiness on the planet increase production by 10%;

Population amount on the planet increase production by 50%;

Mineral resourse gathering decresed by –5%

So the total amount of minerals produced should be : 21000 * (124+10+50-5) / 100 = 37590. And the game shows 40362. I think it is a bug.
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